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In which year partition of Bengal was made ?

(A) 1908 (B) 1905 (C) 19086 (D) 1907
6LONONAL GAALAL SUL ANHL WSALHL el 8L ?

(A) 1908 (B) 1905 (C) 1906 (D) 1907

' Which of the following is correct regarding ‘HRIDAY’ yojana announced in budget

2014-157?

(A) it is for the establishment of new heart hospital
(B) it is for the horticulture development

(C) it is for the heritage city development

(D) it is for the treatment of heart disease patient

2014-15- 13241 282 s2aui 203l ‘HRIDAY’ diog-iiil A AA-unidl sy [Rar g 8 ?
(A) 4 geull ARaR W2 dl sifRuzdl uvat-l dio-u €.

(B) a ouwuAl [ e+l alor-u 69,

(C) A [ 282 (fR2% AA)-u [Asa - ulos-u 8.

(D) A &cuRidL e81-0 R W2+l wlos-n 69,

The transition area between two ecosystems is called
(A) none of three mentioned here (B) epitome
(C) ecotone : (D) biome
o} [Rantdatl ad-n sHar [@dar g ssau & ?

(A) #d] saldd il 45y 1l (B) »idlain
(C) Hsi2i (D) buAl™

With which of the following nation India share the longest land boundry ?
(A) Bangladesh (B) Pakistan (C) China (D) Nepal
AA-uuiofl su1 22 e curd aleuni @iofl gl A qpd © ?

(A) sildaug e (B) WilE-t (C) Al (D) W&

Lord Mount batten use word ‘One man bdundary force’ for which person ?
(A) Mahatma Gandhi (B) Mohammad-Ali- Jinah

(C) Sardar Patel (D) Jawaharlal Nehru

Al WBr2 tlen ‘A We suGfl 107 Aoe Sl W2 Al 8dl ?

(A) ust 2l (B) usiane xl [Brau

(C) URIR U4 (D) FUSRAA A8

Which one of the following is a sanctuary and a centre for nature education ?
(A) Tuva (B) Poshitra (C) Hingolgath (D) Devki Unai
AA-uniefl 53 206010 8 214 slAs1 eaA W+ a0 Yo 7

(A) 2t (B) Wilu () [E2na26 (D) 2afl G-u

CSSC-GS-I-PRL-2014 3 ¢ [ P.T.O.




7. | “Pacific Ring of Fire” is the area which is famous for which of the following natural
phenomenon ?

(1) Volcanoes

(2) Earthaquake

(3) High altitude mountains

(4) Naturally occurring forest fire

(A)2,3,4 (B)1&2 (C)1,2,4 (D) Only 1
HAUA HYRARRY A uBw DA-unid) 56 582l aen wd v B ?
(1) waucull
(2) Byéu
(3) G yddl
| (4) §5dl Ad Forani cwad) 2ua
L (A)2,3,4 (B)1&2 (C)1,2,4 (D) Only 1
8. Lichen is an example of which type of interaction between fungus and algal ?
(A) antagonism (B) Symbiosis (C) competition (D) parasitism
s A oL 21 dla 423D 568 ugi-) i3 Geigm 9 ?
(A) uldma- (B) As@an, (C) i (D) YRumar
9. | Which soda is used in the cloth washing shoap ? ]
(A) Calcium carbonet (B) Sodium cloride
(C) Sodium carbonet (D) Sodium bicarbonet
SUsl dlarl uepui 541 gLl B ?
(A) 3[@wun sz (B) ulun saiuss
(C) Afluu HvilAe (D) ALl suu sl
10. | Consider the following details ? —‘
(1) Absorption

(2) Dispersion

(3) Reflaction

During rain by which reason of above given DTH signal become weak ?
(A)1,2 and 3 (B) Only 1 and 2

(C)Only 1and 3 (D) Only 2 and 3

(Ranfafid s1een w2 R 53 7

(1) qilum (Absorption)
(2) u4lein (Dispersion)
(3) uad+ (Reflaction)
i (Rue) EMA Guysd sReluid) su) 519U 4 DTH neudl-i R sz w8 ?
(A)1,2 214 3 (B) 344 1 24 2
(C) 3am 1 w4 3 (D) 3am 2 %44 3
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1.

The largest concentration of migratory birds in Gujarat is in one of the following
locations ?

(A) Ratan mahal sanctuary (B) Gir national Park
(C) Nal Sarovar (D) Velavadar sanctuary

g1l uanll wallviig Al ay 43~sa DA-unid su 220 Aa wd S ?
(A) AHSIA AHAAIRBY (B) 02 xdlu Geunt
(C) " MRUAR (D) dtuag: x1eu1R0L

12.

Which writer from given below was at the court of Mohmud Ghazni ? '
(A) Ibn-Batuta (B) Abul Fazal (C) Al-Biruni (D) Abdul Razzak

HigaHg AYdl-L 60Ul sieL DNA-uHil Quis S ?
(A) So-tiddl (B) 244 $1c (C) 4 13- (D) A6EA NS

13.

With regards to Ebola Virus consider the following statements ?
(1) Ebola Virus spread by coughing & sneezing

(2) Ebola Virus out-break is seen in West Africa in 2014

Which of the above statement is/are not corrected ?

(A) Neither 1 or 2 (B) Only 1

(C)Only 2 (D) Both 1 & 2

Solldl iy 1l Asudd Reralbid suq u2 Lu- 200),

(1) Sollan A Guy 21 s g1 e 8.

(2) Soticn uuxl AN uBin 2uB sl 201441 512 Dstdl gl
Guaniefl suu suL sun/sunl wiaL® ?

(A) tir il 245 ygt 1l (B) 554 1

(C) $5u 2 (D) 1 1 2 6i4

{

14.

Regarding various schedules in Indian Constitution which of the following statement
is incorrect?

(1) Tenth schedule contains provisions relating to disqualification of MP MLA on

ground of defectlon

(2) Division of powers between the Union and States is decided by 8th schedule as
it contains union list, state list and concurrent list.

(A) Neither 1 nor 2 gl (B) Only 1

(C) Only 2 (D) Both 1 and 2

suRdlx oirRarll 2y des] ud-unidl sy Qum vlg S ?

(1) sasll 2ugyRui uauaai-u 519 dine 213 wAAAN Seusid 2004 S 7

(2) 3% A A% @A e aduell v»uatil uga;ﬁm 69; % e agl, A%d Wl w14 unadl
el 4 89 ? 1 §

(A) 1 21 2 olwigfl A5y —té,l (B) $5d.1
(C) 5d 2 & (D) 1 211 2 A
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15. | The marine national park of Gujarat is situated in
(A) Ghogha (B) Pirotan
(C) Nalsarovar (D) Narayan Sarovar
ABRAAUL U4l d)u Geurt sui vidg B ?
(A) Qi (B) Izl
(C) A U\dR (D) AU H2AAR
16. | Mark the incorrect statement ?
(A) Mangolia is a coal importer
(B) China is major exporter of Rare Metals
(C) India is a major importer of Gas & Oil
(D) Egypt is a cotton exports
A-uniel vl [Quuq sala ?
(A) ol slau s 6,
(B) A+t gt welloA yeu Rulasdal &,
(C) BuRd 4 247 WARAn, v s 8,
(D) Sl sie-) Msin 53 .
17. | Consider the following statements
(1) Change made in area of state under article 3 and establishment of new states
under article 2 requires constitutional amendment with special majority.
(2) Indian Territory can be ceded to a foreign state only by amending the constitution
under article 368.
Which of the above is/are not correct ?
(A) Neither 1 nor 2 (B) Only 1
(C) Only 2 (D) Both 1 and 2
DA Q) awi:
1. 544 3 AL 2ddld Al Ryl $2812 5241 4L 563 2 - 2idsid il AU 2219
W2 [Agy siguad) sigielly yuidl s2a) #3869,
2. iRl A4 416 2N uo5ut 2tuaL 3 s 368 idsly sielly YRl s34 2asys
o, 69,
Gu-tuiell su1 Qs vz 8,
(A) 1 21 2 niel Bisyg) ) (B) $5d 1
(C) $5d 2 (D) 1 21 2 4
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18.

Considering the following data, predict the type of climate of the region ?
Rainfall : 35-40 C. M. in winter

Type of vegetation : shrubs with majority of citrus fruits & grapes
Humidity : low

Temperature : Temperate : 15— 25° C

(A) Gulf Type of Climate (B) Equatorial Climate

(C) British Type of Climate (D) Mediterranean Climate

RA Yart o2l 2 d-i R d 56 2uelsal ¢l d geual.
a6 : 35 9l 40 A Hl [Rrnouni

a-tRuld-Al MsIR @ HI2 GO B2l S i G181 Adl

M : 2L

Alumi : 15— 25° C

(A) tvudl usizl 2usisal (B) [Qyagrla vusiigal

(C) Bl usiz-l 2usiigen (D) Mue ARl dusisal
19. | Which of the following pair is not correctly matched ?

(A) Kaziranga national park — Assam

(B) Great Himalayan national Park — Jammu and Kashmir

(C) Corbett national park - Uttarakhand

(D) Sariska national park — Rajasthan

AA-uumid 56 A4 uloy Ad Asouda 4 ?

(A) s1Al0u Ay Gendt. - U

(B) 32 [Srau Axdlu Ganrt - o3y 2 51982

(C) sivle Ay Beust - Grivis

(D) #uRs1 Andl Genrt - Aor2A
20. | Which of the following was connected with “Congress Radio” at a time of “Quit India

movement”.

(A) Aruna Ashaf Ali (B) Usha Mehta

(C) Vijayalaxmi Pandit (D) Sarojni Naidu

AA-uniell sla Sl 00 il “eurd H181 AiLar’ e Asmde 28 e ?
(A) 2200 208 A1) (B) G wedl

(C) [Axmaasll Wdld (D) AR\ g
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21.

Consider the following statement regarding ‘Biomagnifications’?

(1) it occurs when the concentration of a substance in an organism exceeds the
back ground concentration of the substance in its diet.

(2) DDT can be accumulated and cause health hazard in higher level of food Chain
due to biomagnifications ?

Which of the above statement is carrect ? answer using following code.

(A) neither 1 nor 2 (B) 1 Only
(C) 2 Only (D) both 1 and 2

Faudwul (mzﬁﬁﬂj*ﬂ[%%am)vu Aeciul DA Q- qu?

(1) vilusal dauni wuad we i s A6 wewani 46 315 4257 Adsm wy AR Al B
U 58 9.

(2) B iserll uBurn 518 2812 Yorar Gurrl i 4.4 ML IDTURE I
[Afay 2uen yuzu W2 waibiglz 8.

Gurritiell sut [l acu 8. QA0 Riseunie wlow Rseu waie 31,

(A) 1 247 2 uisll uﬁ wa Al (B) %54 1

(C) $%d 2 | (D) 1 211 2 oi4

22,

Which of the follow‘ling site is included in Ramsar sites of wetland list :
(A) All three mentibned here (B) Narayan Sarovar Sanctuary
(C) Nal Sarovar biqd sanctuary (D) Thol bird sanctuary

NAuuidl 53 2n R wnar w2’ 43 As 4287 Crella o) dlreni wla 8, ?
(A) 2] saifda Ady (B) RS URAR HeARE
(C) i AR uell v (D) 4l uall A eur2w |

23.

Consider the following statements: 7

(1) Incase of difference of opinion between Lok Sabha and Rajya Sabha with regards
to constitutionpl amendment bill, Joint sitting is called by Speaker.

(2) Proposal for constitutional amendment bill can be introduced only in Lok Sabha.

Which of the above statement is correct?

(A) Neither 1 nor 2 : ‘ (B) Only 1

(C) Only 2 (D) Both 1 and 2

2w [Qa quii,

(1) elelu yarin RAus1 ousd a3 200 de 213 AlSAML A2 HAME SlU D AU
SIR1 Y5 Hss slcaaini 2 9,

(2) citellu il 1}1@:@ (A8 $5d disucuni o srue 53 a5y B,

Gurumidl sut Ettuv&‘ AL 6 ? o

(A) 1 214 2 Suiel] 2 syer 4d) (B) $%d. 1

(C) 55d 2 (D)1 21 2 ) J
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| 24. | Which of the following is not correctly matched ?

(A) Vitamin B12 deficiency Anaemia

(B) Vitamin A deficiency

Night blindness
(C) Vitamin D deficiency - Scurvy

(D) Thiamine defiency Beri-Beri

A-uuiddl 53 il Ad Asida S ?

(A) [@2rfl- B12+) Gay - 2i-adla
(B) (A2l Al Gau - diusiug
() Qavlin DN Gaw - 2sdl
(D) w3l Gy - o f-6id)

_25. Vagher Revolt was happened in which part of Gujarat ?
(A) Dwarka (B) Valsad

| (C) Sabarkantha (D) Ahmedabad
QAR [AlS Aorndril su1 GUoLHL Al Sdl ?
(A) 6151 (B) 4418
(C) AR 5161 (D) AHELAUE
26. | The great Chinese traveler ‘Hu-an-tsang’ came India at the time of which ruler ?

(A) Aparajit (B) Pul Keshi
(C) Rajendra Chol : (D) Raj-Raj First
Hit Al Al ‘G- SirlL AHUAHL GURA 204 ?
(A) A4 (B) yasell
(C) A%s A (D) R1%-A% AU

27. | In which among the following protected area people are not allowed to collect minor

forest produce or grazing ?
(A) All three mentioned here (B) National Park
(C) Wild life sanctuary (D) biosphere reserve

AA-uuiefl su ARA0q [QraRinid disid gaad Gudsian Gol sl § sl aiaadl tigdl
¢fl ?

(A) 2l salda A8ly (B) A)u Geun

(C) Aruas BRUIRLY (D) A% Aware (suAiSluR Rad )
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28. | Consider the following statements :
(1) Fundamental Duties are Justiciable in nature
(2) Fundamental Duties are confined to citizens only and do not extend to foreigners
Which of the above statement is correct?
(A) Neither 1 or 2 (B) Only 1
(C) Only 2 (D) Both 1 and 2
D2 [Qaunl dwil,
(1) 484 $2% Uil uglani =i 8.
(2) YNG4 $90 $5et AR W2 o O w1 (A2 AlF2A sy usdl ),
Guaruniddl sun [Qa-il e 8 ?
(A) 1 5 2 widl sisye A, (B) $5d.1
(C) 5 2 (D) 1 ¥4 2 649
29. | Which of the following is an example of nitrogen fixating bacteria ?
(A) all of three mentioned here (B) Rhizobiurm
(C) azatobactor (D) rhodospirilium
Dauiel 534 Sl RuREe W2 warild Geigaa 8 ?
(A) 4] salda A8y (B) ASABran
(C) »Peidse: (D) eSS Run
30. | When there is inflation rate is high and also unemployment rate is high — What is it
called ?
(A) depression (B) hyper flation (C) defiation (D) stagflation
TR @2 gonardl g2l il Aoroudll €2 wat ay €l di A3 4 sdauniud 9 ?
(A) 3xan (B) Sluusdan (€) Bsdan (D) Rasdun
31. | With respect to writ Juris‘diction of Supreme Court (S.C.), consider the following
statements ? '
(1) Writ Jurisdiction of S.C. is wider than H.C,
(2) Territorial Jurisdiction of H.C. is narrow than S.C.
(A) Both 1 and 2 are correct (B) 1 is correct
(C) Bothe 1 and 2 is not correct (D) 1 is incorrect and 2 is correct
a2 Aerad Rz ~uR s el NA-u Rus duizi,
(1) Ul Ag1adg Re ~uRsAA adl 2eadl 5241 Raga 3.
(2) A8l Aeretag ~uls &t udl2a weiad s34 g S.
(A) 1 24 2 43 21 8, (B) 1 w3 6
(C) 1 31 2 vz 89, (D) 14lZ & w2 13y & J
CSSC-GS-I-PRL-2014 10
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| 32, Bhagat Singh and Batukeshwar Dutt threw bomb against which act in the Central
Legislature ? ;

(A) Montagu — Chamford Act (B) Press Regulating Act
‘ (C) Trade Dispute Act (D) Row let Act
ldABle 2 23R £ 3dlu wRrewH] sut et Rpgui viley $5u1 8l ?
(A) Hir20y AwugLé As2 (B) Nt 29yALl AUs2
(C) 23 Raye 252 (D) Q2 @s2

33. | Which mineral is was used the nuclear reactor ?

(A) U 237 (B) U 235 (C) U 234 (D) U 236
| ufGrdlu Daseaul 56 velly AR 97

(A) U 237 (B) U 235 (C)U 234 (D) U 236

34. | Which of the following is not the component of green revolution ?

(A) Irrigation (B) High yielding variety seeds
(C) Fertiliser (D) Farm mechanization
DAAnid) 53 sRd sild wdd ues Al ?

(A) R (B) Ay Buie s axatawou oflo

(C) “dR (D) s uilf s

35. | Which of the following is not consider as ‘direct tax’ ?
(A) Corporate tax  (B) Income tax (C) Wealth tax (D) Sales tax
DAraie sul 52 uuz 52 (A1) agudl 14l ?

S S

(A) R aRi (B) 24 4Rl (C) ¥ulz 4l (D) A 42l

36. | Which of the following is/are true with respect to coral reefs ? :

(1) Coral reefs require neither too warm nor too cold water

(2) Coral reefs can develop in salt as well as fresh water

(3) Coral reefs develop in deep water

(A)18&2 (B) Only 1 (C)2&3 (D)1, 2,3
nad 2ty AA-uuidll sy/sai A a8 ?

(1) Meud 21y Ay AH 3 ay §g wsll siag -l

(2) Meudt 2ry vl 247 Wt vid wella [@sdl as 9.

(3) MU 21Y, $ 5t BLaL uygHi oA O,

(A)1&2 (B) §5d 1 (C)2&3 (D)1,2,3
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a7.

A type of investment where finances are employed to create a new physical facilities
for an industry in a location where no exiting facilities are currently present is called ?

(A) Gray field investment (B) Brown field investment
(C) Blue field investment (D) Green field investment

Al USRY AR (S-d2d2) 3 FHi YA A 2003 A ar Gellol H2 s s Gou
4L AsUNL 209 9 3 B W QLqHl 2 S Gedn ofl A4 -

(A) A (3 Sazen-2 (B) G [B&s Sdzenir2
(C) cay [Bes Swdzed-e (D) 3 [3&3 Sdzenre

38.

Which of the following indicators are used for calbulating Gll (gender inequality index) ?
(1) Maternal mortality ratio

(2) Adolescent fertility rate

(3) Female and male shares of parliamentary seats

(4) Female and male labor force participation rates

Select the correct answer using the code given below :

(A)1,2,3and 4 (B)1 and 2 (C)1,2and 4 < (D)1,3and 4
il sur Gil (AR1s AAHAAL YAsis) 158 s2en WL Udds 6 ?

(1) g YeyeR

(2) Yo WAL €

(3) deul wldenil 247 yuiui wowil cuaed)

(4) ul8en i Yului A tonui cuoflerd) 62

A [Aseulnid dioy [isey yaie 521,

(A)1, 2,341 4 (B) 1 241 2 (€)1, 241 4 (D)1, 3 i 4

39.

L

Fundamental Rights are available against state as well as individuals in few cases. If

state violates FR of any person which are the remedies available ? Choose correct
option.

(A) It depends on the choice of person who's rights are violated
(B) Constitutional remedy

(C) Legal remedy

(D) Both constitutional and legal remedy

YA S5l aparll WA du deans Brumi Al wid ya wa 8. 9 oy HAYYA 85 0431 53
ol DA-uniefl su1 Guaz a8 93 & ? el Rsey waig 531, x

(A) d AlEd 3 Bt ¢S4l cior a2l © At vae uz Mol 8.
(B) vituzelly Gy

(C) ~ulds Guar

(D) &1dl iy w1 ~ulis Gy
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40. | RRB (Regional Rural Bank) is jointly owned by -

(1) Government of India

(2) Concerned state government

(3) Sponcer bank

Select correct statement from codes given below :

(A)1and 3 (B) 1 and 2 (C)2and 3 (D)1,2and 3
RRB (A0l el Sls)ui St g2y 2y sd A wlad yaadmi 2d o ?

(1) HUIRA AR

(2) 2 d Al A% ABR

(3) 25 (RUi-AR) 18

DA Rseduidl Al [Qsen vie 5312 ‘

(A)1, 1.3 (B) 1 %1 2 (C) 21 3 (D)1, 2211 3

41. | Consider the following statements regarding AAY (Antyodaya Anna Yojna) ?
(1) ‘Poorest of the poor’ families are beneficiaries of this scheme.

(2) The beneficiaries receives 35 kg of food grain per household per month at
concessional rate

Which of the above statements are correct regarding AAY
(A) neither 1 nor 2 (B) Only 1
(C)Only 2 (D) both 1 and 2

Aedley 2ia dlogeiru (AAY) deel DA [Qul aswl.

(1) i gl et aflofla wa Al ay aidlor ggelld vy wud 8.

(2) 20 @yttt cucufld g2 WA €2 g 35 [Bellaum 21 Arel €3 2uHl wud 8,
Gurruniel s [QaiRl AAY-U g i 8

(A) 1 7 2 Widd &ls ua R, (B) &5d. 1

(C) 554 2 (D) 1 vt 2 6id

42. | Gandhiji started ‘Quit India’ movement after he disagreed with which of the following
Commission ?

(A) Crips mission (B) Wavel Plan

(C) Cabinet mission (D) August offer

DA-unied st s3a- onotdl Wl HAsudl udt Aiflewn de S18 vigian 33 53 ¢d ?
(A) B Ban (B) A& Aol

(C) 50142 (M- ' (D) e Ueud
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43.

Match the following regarding principles borrowed from other countries to the
constitution of India. Which one is not correctly matched ?

(1) British Constitution - Rule of Law |

(2) Irish Constitution — Impeachment of President !
(3) US Constitution — Fundamental Rights

(4) French Constitution - Emergency provision '
(A)2,4 (B)1,2,3 (€)2,3 (D)1,2,3,4 '

A1 s 5t uvudl. oflon 2aniHiell cudld ciaml Adimi 2udd susidi-L e 56 Fd dioy,
4 Asda 44l ?

(1) [Bala vitze — 5lugly WA

(2) suddluviarar  — angulasd wsif@alol

(3) gl vlural —yueyd wRsRL

(4) st imne — 52158l s

AlA-1 [dseuinn 2R was uul.

(A)2, 4 (B)1,2,3 (C)2,3 (D)1,2,3,4

Consider the following statements.
(1) New All India services can be created on receiving authorization of Rajya Sabha.

(2) National emergency can be discontinued only on basis of resolution passed by
Lok Sabha and not Rajya Sabha.

Which statement is/are not correct ?

(A) Neither 1 or 2 - (B)Only 1
(C) Only 2 (D) Both 1 and 2
A [l dwidl :

(1) %A 2485 51 wedl o Ad) 2F1e cudl A sr-udl s 8.
(2) AU $21521A 2€ 54 S5 AlsaMAl 1ol 239 O uw puucu R,

{

45.

GuRriuidl sy Q- vig 8.

(A) 1 5 2 wigfl A5y [, (B) $5d 1

(C) §5d 2 (D) 1 34 2 449

Arrange following world heritage sites from north to south ?

(1) Valley of Flowers (2) Red Fort

(3) Khajoaraho group of movements (4) Sanchi Stupa

(A)1,2, 3,4 (B)2,1, 4,3 (C)2,1,3,4 (D)1,2,4,3
A1 oreuda R Qi 22009 Gl el slsd ?

(1) gal-l end (2) aa Beal

(3) wogRASE Ay 20l (4) il 2qu

(A)1,2,3,4 (B)2,1,4,3 (€)2,1,3,4 (D)1,2,4,3

.
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46.

Which of the following is a Tributary of Ganga ?
(A) Ghaghara (B) Sirsa (C) Betwa (D) Ken
Aalmig) 56 sloudl usiag €l 9 ?

| (A) "ERL (B) dlu (C) Ada (D) 3+

47.

| Which of the following is not a vector-borne disease ?

(A) Kala Azar (B) Malaria (C) Filaria (D) tuberculosis
Aduiodl sul s =4 1oL Al ?

(A) SAURBIR (B) dad

(C) A (d1ellwdu) (D) & (2ytisyallln)

48.

‘Chandra Shekhar limit’ word was connected with which process ?
(A) Global warming (B) Star formation event -
(C) Blue colour of sea’s event (D) Ozon hole formation event

Qgim [Qlle’ 59 e wd Asonda ot © ?
(A) 2dioia ARt (B) it Ruia ud) uz-n
(C) Ayg-u -l 391 udl e (D) 201 g [Auia ge-i

49.

How light wave is different from sound wave ?

(A) light wave produce interference but by sound wave does not
(B) light wave is electro-magnetic whereas sound wave is not
(C) light wave travels through water but sound ware does not
(D) Sound wave travels at same speed in all medium

s a0, Rl 589 dd 1 w3 9 ?

(A) usta aaudl ufazs (interference) Geust iy 69, taR aauefl 4l
(B) ustat-l 2ot [Aggd Yorflu 8, wuiR @[ adan el

(C) usiaL dzar wani Ald 531 a3 9, [ aa Al

(D) talR dzoL et o weanHi w42l aufd 53 8,

L

50.

During El Nino in Pacific Ocean, there is hlgh probability of drought/less rain in India.
What are the possible explanation ?

(1) During El Nino Trade Winds are weakend

(2) During El Nino there is decrease in warm water in pacific ocean’s Asiatic coast
(A) Neither 1 & 2 (B) only 1

(C) only 2 (D) both 1 & 2

AHAMAL PUR WA HSRAIRHUL €1 AU HRANE ER51Y20 auE- Asadl Sl D — A ay
A1 120 54 SIS a3 ?

(1) 2@l eRan cuRs yasdl 1ol o 9,

(2) Al sfhain uaid AR AL a8 ol wiell-n diymis q2is g 9.
(A) 1 5 2 uidl A5y ) (B) $5e 1

(C) §%d 2 (D) 1 24 2 6id
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| 51,

Swami Vivekanand participated in 1900 ‘Dharma Sansad’ other than Chicago was ?. -
(A) Berlin (B) London (C) New York (D) Paris

el [adsiie (sl Raw ol s6 e dusui 1900 ui cuol @l ?

(A) el (B) @3n (C) yuis () REEN

52.

Which of the following missions are part of NAPCC (National action plan on climate
change) ?

(1) National solarmission

(2) National mission for enhanced energy efficiency.

(3) National water mission

(4) National mission on sustainable habitat

Select correct answer using code given below

(A)1,2,3and 4 (B) 1 and 2 (C)1and 3 (D)1, 2 and 3
Ad-unidl su NAPCC “llant (Rae s vt vt sasiz Aea)-l ooz © ?
A 210 [Aseqlnidl aloy [@Qsey uais 53l

(1) Andlu YU God o

(2) lu Gt sidea glg o

(3) Axglu ¢ W

(4) 251G 28519 24914 Ard)u Hlax

(A)1,2,3%4 (B) 1 44 2 (C) 13 (D)1, 241 3

53.

Regarding establishment of new states match the following : Which of the following
pair is not correctly matched ?

(1) Manipur established in - 1972

(2) Mizoram established in - 1987

(3) Nagaland established in - 1972

(4) Goa established in - 1961

(A) 3,4 (B)1,2,3,4 (€)1,3 (D)1, 2,4
et Al e qoild DA Asst awail Axisd) 56 AN diou A Asvude 44,
(1) wellyR 21 - 1972

(2) Bt uAl 22y - 1987

(3) Wwud-s+l 2y - 1972

(4) - ML - 1961

(A)3, 4 (B)1,2,3,4 (€)1,3 (D)1, 2,4
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54. | Which of the following states are included in the scheme — extending green revolution

| | to eastern India ?
' | (1) Bihar  (2) Assam (3) West Bengal (4) Madhya Pradesh
Select correct answer using code given below :
(A)1,2,3and 4 (B)1 and 2 (C)1,2and 3 (Dy1,2 and 4

| DAl s el - ydl cardl sRd sila-dl sand ) dlegul e 8 ?
(1) Bk () (3) yBaw sloun  (4) YUNLU

\ \ sl dlou [ased e 53l
|| (A)1,2,3»ﬁ4mqm (B) 1 %t 2

\ \(0)1,2»@13 (D) 1, 2 2+l 4

55. | What do you mean by the term ‘Qilzaper’ ?
(A) It is the latest rechnology to control the accidently caused flames from oil wells ?

(B) It is on eco friendly technology for the remediation of oil spills.
| | (C) Itis the latest technology developed for under sea oil exploration
| (D) Itis genetically engineered high biofuel yielding maize variety

S adux’ aedl andl g AHTY 9 ? |
(A) A sl dart gauui awrdl Sy Feifia san adiA WelBLa 8.
(B) A Auda A g2 sean w2l §5i%msdl WellBial 8.
(C) 4 eRuru quiaidll A steal Adiq WenBidl .

(D) A B as5lAl sprcled Hi2L HHRLHE FAgHuRL AL w1+l A 8.

What is Infant mortality rate ?

(A) itis the number of daath of children less than one years of age per 1000 live birth

(B) itis the number of death of children less than one years of age per 100 live births

(C) it is the number of the death of children less than one month of age per 1000 live

births '

(D) i;_:'tshthe number of death of children less than one month of age per 100 live
irths

[y (S-sv2) 4y e 487

&) 1R 100 a2 - Rt b gutan s 1Rl G gt yeyedl
vl

(B) 3{.[?1 1000 202<t -l gl Avatr LUl As el el Guransu Bigi-i 3yl
vl

(C) u'[?t 100 A2« A Riga-l vai-i igutani 3l @l -l Gura Rugii-u gyl
Aval

(D) WA 1000 UWA YA Rzl 2ival A 3 W -l GHau g
Yoyl v
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57. | Consider the following statements
(1) Service tax is levied by both centre and state.
(2) Proceeds of surcharge go exclusively to the centre
(3) State legislature can impose sales tax on all goods including newspapers.
(4) Income tax is levied and collected by centre but its proceeds are distributed

between the centre and the states.
Which of the above is incorrect ?
(A)1,2,3,4 (B)1,2,3 (C)1and 3 (D) 2, 4
MIDETHECTETICUTEN
(1) Adl 52 3% 2 AU KA GIRL AEUHL 2Ud 8.
(2) w4 adl vl o 2uas - Anu 9.
(3) o [QaHsn s1HL o WA $ FHE AMAR WA AHUAE S dnil u2 AaRd el ad 6.
(4) 2uas dl 37 glL el 2ud 89 ud d-l 2uas 3 2 A% a2 adal 2ud 9.
Guarimigdl su1 [Qtum wizt 9.
(A)1, 2,321 4 (B)1,2,3 (€)1 13 (D) 2 »i 4
58 Consider following statements with respect to tides.

(1) Spring tides occur when Sun and moon fall in line
(2) Neap tides occurs when sun & moon are per pendicular
Which is incorrect ? ‘
(A) Neither 1 or 2 (B) Only 1
(C) Only 2 . (D)Both1&2
®edl/2ii2 A1 Asnuda A [@Quil aweil ?
(1) G2 el R 2ud 69, w1 YA w1 Ag AAs A v Sl
(2) [t el R 20d 8, R i 1A g dotad Siu
Guanidl g wilg 8 ?
(A) 15 2 |idl A5uR 1) (B) $5d.1
(C) §5d 2 (D) 1 ¢+ 2 6iq

59. | Which of the following is correct about “android” system ?

' | (A) Neither Its code is open source nor It was developed basically in Java

(B) Its code is open source
(C) It was developed basically in Java
(D) Its code is open source and It was developed basically in Java both
A-uniefl 53 255 Alren w2 i 9 ?
(A) d A5 2lut Al 58 O w17 A Afls Ml vt 2uej S Hig 2 wa dl.
(B) d s iiun A 518 .
(C) dr Afls sncLui tirtumi vuey .
(D) o 245 2Alurt 01 518 6 21 df Aos Aaumi -t 2uey § oid
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|

O maus for whih of h fllowing i
\ 61. | Velavadar Natioanl Park is famous for which of the following animal ? |

|| (A) Bear (B) Tiger (C) Blackbuck (D) Chinkara |
| qonag? Wdlu Geurt Da-uuis saued w2 [Qvad Q7

| !
|| (A) Aes (B) & (C) b5 o5 (sieflar) (D) RsiRy l

|

NI
|

|
|

Afterv rain stopped rainbow is seen : . |
(A) Also seen where sun is not there ‘ |

(B) At the side of Sun ] |
| (C) At the opposite side of Sun |
(D) Does not effected by the position of Sun and Shown on any side |

'\ AL T 51 Ul SrsEr |
| (A) yd A Sid a3 uaL A as 8. |
(B) Y dR3 Al wa 9. |
\ () 3l [udla Rauwi A ui 8. |
|| (D) Y-l Rl wR spla =), A6 ua Baumi Aal v ©. |

o B e

62. | Which of the following is are included in current account in BOP (Balance of Payment) |I

| statement ? \

| (A) neither Trade nor Service (B) Trade |
|| (C) Service - » (D) Trade and Service both ||
\ Da-mid) 586 oucd BOP (2Ll digan)- deel Ay vt el 2d 8 ? |
\ (A) Aure 3 Aawwiel As w1l (B) AWR |
| (C) A (D) QIR i Actt vid ||

63. | Which of the following agency act as Nodal agency for MSP (minimum support price) I|

| scheme ? |

|| (A) Neither NAFED - National Agricultural Cooperative Marketing Federation nor FCl |

— Food Corporation of India ‘ '
‘ (B) NAFED - National Agricultural Cooperative Marketing Federation J ||
| (C) FCI - Food Corporation of India |

| . : .
(D) NAFED - National Agricultural Cooperative Marketing Federation and FC| - Food \

Corporation of India both |

| Qa5 ke s, (agun e yen) dlopen w2l weald (sa iz a3 |
ad 5387 |
|

(A) NAFED (Rudla s sl Ruat 2ig) 3 FCl (urdla vue Fow)uidd 516 el \
(B) NAFED (i:dlu 5[ e sl [Quat AAe)

\ (C) FCI (tuRdla vuet (o) ‘
(D) NAFED (Rixld 0 ae gl Rusi 48) 213 FCI (GuRdld vie o) o |
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64. | Which of the following is correct regarding SLR (Statutory Liquidity Ratio) ?

(1) it refers amount that commercial banks require to maintain in the form of gold or
| government securities

(2) itis determined by RBI in order to control expansion of bank credit
Choose correct code from the following

(A) neither 1 nor 2 (B) Only 1
(C) Only 2 (D) both 1 and 2

DA-unid) 53 [Qaurt SLR Qeulis detdl 2imuid)u dsel 0 9.

1) d 2wl olst G121 Al A #5131 Uldeyfavtl ddls pAviar e 454 suda 5 6.

2) d curwid) oisl g1 ad A (5032) Yy R 520 02 RBI g1RL 155 52l »ud ©,
QA-unisdl wiou [Qseu waie s, _

(A) 1 211 2 widl 245 wa R, (B) $5d. 1

(C) $5d 2 (D) 1 21 2 bid
65. | Which of the given below is not rightly match ?
Institute - Founder Leader
(A) Satyasodhak Samaj - Jyotiba Phule
(B) Brahmo Samaj - Raja Rammohan Roy
(C) Arya Samaj - Dayanand Saraswati

(D) Ramkrishan Mission Ramkrishna Paramhans

A-uniddl 54 w0l Ad Asida =l ?

SR - R™UNAR Al
(A) Auglys uHy - wulldon s
(B) 481 A3y - AANAH HISH AL
(C) 2ud Ay - guire Ul
(D) uHg™L Ra - Angw Uy

66. | Which of the following sectors are included in primary sector ?

(1) Agriculture  (2) Forestry  (3) Fishery (4) Mining

Select the correct answer using code given below :

(A)1,2,3and 4 (B) Oniy 1

(C)Only 1 and 2 (D)only1,2and 3

AA-unidl su Aol s Qs swami 2ud 8 ?

MR @ aadeii  (3)Helwdl  (4) v Gedat

A 2uden [Rsediniefl diou [@Qseu vaie 53,

(A)1, 2,33 4 681 % (B) 554 1

(C) 85 1 @ 2 (D) $5d 1, 2 ¢4 3 {
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Ball bearing are used in bicycles, cars because ?

(A) None of three mentioned here
(B) the actual area of contact between the wheel and axle is increased

(C) the effective area of contact between the wheel and axle is increased
(D) the effective area of contact between the wheel and axle is decreased

Aase AR SR il glordl oy e © 31 5, 7

(A) 2l ealda e s u el

(B) Ast 214 8 Q@A AauglH)l ardlds A adl a 8.
(C) Wt 2 8l @it dzusil neudl (R adl o 8.
(D) st 2 8l qzalA raall uendl (AR adl au 9.

Which of the ecological pyramid is always upright ?
(A) Neither pyramid of energy nor Pyramid of biomass
(B) Pyramid of energy

(C) Pyramid of biomass’

(D) Pyramid of energy and Pyramid of biomass both

sl s Sodlesa Dills sdal Al Slu 9 ?
(A) God RRAS 3 FasiR Rawells Auidd As ua 2l

(B) Glod Rl

(C) Bacu Rl \

(D) @ Rl 31 Facur Rawdls it J|
69. | With regards to Deputy Chairman of Rajya Sabha consider following statements \

(1) He is elected by Rajya Sabha |

(2) He is responsible to Chairman of Rajya Sabha |

Which of the above statement is not correct ?

(A) Neither 1 or 2 (B) Only 1

(C) Only 2 (D) Both 1 and 2

srparieul Gu-acufa- Agefui D (Qairdl dwl :

(1) A ATAUML SR gjeai 2ud 8.

(2) d AFUAMU-L oA AR S D,

Gua-iuidl sa Qs vil2yL 9.

(A) 15 2 il A5 Ald. (B) 5. 1

(C) §5d 2 (D) 1 1A 2443

_/’/___._J
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70.

Which of the following statement is correct ?

(1) Habeas corpus writ can be filed only by aggrieved person

(2) Quo warrant writ can be filed by both aggrieved as well as interested person
(3) Prohfbition writ is available only against judicial and quasi-judicial authorities
(4) Writ of mandamus can’t be issued against private individual

(A)1,2,3,4 (B) 1 and 2 only (C)1, 2, 3only (D) 3 and 4 only
AA-unigd] sa (@t = S ?

(1) oile nURas20 §5d DA alZ gl o Wl asi .

(2) 28512 Y29 D3 AlZr dan 24 421adL alzd g 2ol asi o,

(3) wlany Rz s5d RS 2 208—0RAS Uil wd o woll 93 8.

(4) uH 202 Wil AlF2iA AR ne2 s9 asdl

(A)1,2, 3, 4 (B) 1 341 2 044 (C)1,2,3 (D) 3 ¥ 4 43

71.

Akbar bu_ilt ‘Buland Darwaja’ at Delhi in tribute to the victory of which area ?
(A) Chitod (B) Malwa (C) Gujarat (D) Bangal
s [2edllui ‘opdie gaaimn’ su1 uBau Qo wiwi siaie gy ?

(A) Qs (B) Al (C) 242U (D) ioum

72.

Which of the following country does not lie of the shore of Caspian Sea ?
(A) Uzbekistan (B) Russia (C) Iran (D) Azerbaizan
A-uiell sul 2o s uygett B el vude) ?

(A) A A1, (B) L (C) 821 (D) ARGABI

73.

Which of the following is not a world heritage site
(A) Kaziranga national park (B) Nanda Devi
(C) Sundarbans national park (D) Simlipal

Aa-uuiell 56 QA QRid 2an (aed 3R wiS2) 4l ?
(A) sU330u AU Geunt (B) viciedl
(C) ean Ardlu Geun (D) Rmdlua

74.

Which of the following is Biosphere Reserve ?
(A) Hingolgadh ’ (B) Nalsarovar
(C) Great Rann of kutch (D) Gir

Nwuiel 55 w1Bd Faaze (Cudfzur Rad) 8 7
(A) [€2na212 (B) na3idR
| (C) 5299 v, 2w (D) 2R

|
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owing is consider as an instrument of primary

Regarding capital market which of the foll
market ©

(A) All three mentioned here (B) Prospectus
(C) Bonus share (D) Right issue

yfl oL Ul DAl A9 wafis o A A3 o 2ud 8 2
(A) #A<) aide A% (B) Mirls2
(C) il AR (D) 52U 63

76. | Which of the following shows the correct relation between GDP & GNP ?
(A) GDP = GNP + depreciation

(B) GNP = GDP + Net income inflow from abroad — net payment outflow to foreign
asset

(C) GDP = GNP + net income inflow from abroad — net payment outflow to foreign
asset

(D) GNP = GDP + deépreciation
DA-uuiod sul [dsew GDP »1A GNP 423 A1l AbiR gaild ¢ ?
(A) GDP = GNP + QISR

(B) GNP =GDP + “lSR-U 2 grutiell 2l el BuasHl A — @2l and? 39 ¥l
-l lduas |

-

(C) GDP =GNP + Gi€iR-ll 2 uiell Al 2lvvll piasl HdHALS - Q2o andr 34 ¥l
Bl olduans

(D) GNP = GDP + H&IIA

Highest density of forest is to be found in one of the following regions of Gujarat ?

(A) Plains of north Gujarat. (B) Coastal areas of south gujarat
(C) Northern saurastra (D) Eastern hilly region

gl st [Azieui Al A Sl ofatedl >uden 8 ?

(A) BdR AU el (B) elB 22 nd- ¢t Bru-u neal
(C) Gu Al (D) uid uddlu [zl

78. | Which of the following is national aquatic animal of India ?

(A) Olive ridley turtle (B) Ganges Shark

(C) Gangtic Dolphin (D) Pondicherry Shark
Da-isl 53 cuRdg edla rella susl 9?

(A) iilaa Rl 22a (sl (B) 20y W

(C) oiSiRs & | (D) WRAA s
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79.

Which of the following statement is not correct ?

(A) Adjournment motion can be passed in Lok Sabha only.

(B) No Confidence motion can be moved against the entire council of ministers only.
(C) Censure motion can be moved against individual ministers only.

(D) Motion of thanks to President is passed in 1st session after each general election.

DAuniefl sy (A vig 8.

(A) 2217 URdLd & 5 ALSACIHT % AR 53 w51y B,

(B) [ Urcla § 5 iyl Wi [Qdg o srma 53 as,

(C) el M $5d alsord {A- [z g % erma 59 asu 9.

(D) 022Ul 12 2™ Ui €35 AH-u 2ol uehl-l udell GissHi yaR s2ami 2ud 8.

80.

Which of the following statement is correct ?

(1) Panchayati Raj Act applies uniformly throughout India
(2) Madhya Pradesh was 1st state to enact Pancyayati Raj Act
(A) Neither 1 or 2 (B) Only 1
(C)Only 2 (D) Both 1 and 2
AA-uniefl sur Qarl wa @ ?

(1) vl 2l s1aElL qHu GuRdu] adi A Qo 8.

(2) e il ol Sl QL s uau A g4,
- [aseuinid diou [Asey yaig 520

(A) 1 3 2 wigl 25y Q. (B) 5541

(C) §5d 2 (D)1 21 249

81.

|

Consider following statements regarding ‘Finance Commission’ ?
(1) Iltis a constitutional body

(2) It recommends the distribution of net proceeds of taxes to be shared between
centre and the states

Which of the above statement are correct ?

(A) neither 1 nor 2 (B) Only 1
(C)Only 2 (D) both 1 and 2
el Y-t e )] DAL [Qan-l aw,

(1) d s sjrRella A .

(2) - 21l Alvell uasuidl 3¢l (oL 3vg 24 A% 423 adAUH] 218l ITER | R
56,

Gurrimig] s [Qaurl i 9.
(A) 1 i 2 Wit s ot R, (B) §5d 1
(C) 85d 2 (D)1 31 2641

CSSC-GS-I-PRL-2014 24 [ CONTINUE




| During India freedom struggle which recommendation was at there in ‘Nehru Report’ ? |

(i) Total freedom for India

(ii) Joint electorate seat reserved for minority

(iii) Fundamental Rights for Indians in the constitution

(A) (i), (ii) and (i)  (B) (i) and (ii) (C) (i) and (iii) (D) (i) and (iii)
adld 2adaadl widlan el R [@eilauid 56 GeaHel Ae Audul sami »udl
Sl ?

() GURd W2 Yol AdAdL '

(i) 2iew Avagl w2 2iRelld 2l W2 Aysd Ralan 8

(iii) 2fRarnl cudl Wlas 2RI Gean

(A) (i), (i) A7 (iii)  (B) (i) »AAA (i) (C) (i) 2 (iii) (D) (i) 2A-L (i) -

83.

| (C)itis astockofalT companies

Which of the following is true regarding blue chip stock/share ?
(A) it is a.stock of foreign companies
(B) it is a stock of well established financially sound company

(D) it is a stock of maritime navigation companies

bey [y fiz/eelsw 2Aee] QAumidl 53 Qun A © 7

(A) d [a2all su-llaiu 2R O,

(B) A il 2uvt 41adl 24 u@ifla Ad ug su-dli-y AR 6.
(€) A 2us. 4. suflati-u R 8.

(D) A RS Ry Asda sud-u A 8.

84.

What is the difference between CFL and LED ?

(1) For light generation CFL use mercury vapour while LED lamp use semi conductor.

(2) Average life of CFL is more than LED lamp

(3) CFL is less energy efficient then LED lamp

Which of the give below is/are correct.

(A)1,2and 3 (B) Only 1 (C)Only 2 and 3 (D) Only 1 and 2

Qs (CFL) 2 A4S (LED)HL g #idr 8 ?

(1) usiel Gz 53a1 12 CFL wRewsurl Guallal 53 8, U1k LED 4w AHALES -l Gualal
528,

(2) AAsAA u3ny A4S Awell uell ay uuy wd 9.

(3) A4S Al wrvundllui DAsAQ e Gof uau 8.

Dd-uuiell 54 [ a9 ?

(A)1,2413 (B) $5d. 1 (C)s5d 2411 3 (D) $5d 1 14 3
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85.

Which of the following statements is not correct ?
(A) Secularism is a part of “basic structure” of constitution
(B) Fundamental Rights are justiciable in nature

(C) Directive principles of state policy are borrowed from Government of India Act
1935

(D) National development council is neither constitutional nor statutory body.
Adruiell su lQanl wier © ?

(A) el (s uRue sitelly 3 siugidly s .

(B) 4 [ARUaAL 31 GIHIRRIAL HARYA HITHLAL QU101 89,

(C) KA S51 2 UL 6,

(D) M-t wieals Rigidi suRd a5 AMMAUH, 1935 Hid Al 2ueu 8.

86.

Which of the following is considered as green house gas ?
(A) All three mentioned here

(B) Carbon dioxide

(C) Ozone

(D) Water vapour

AA-unisf) S A @16 S’ A3 A@awni 20 O ?
(A) 2l ealda vy

(B) s16i- S1dls0165 8

(C) Ui

(D) well-l e

L

87.

After ‘Chauri-Chaura’ incident Gandhiji stopped which movement ?
(A) Civil disobedience movement

(B) Swadeshi movement

(C) Non Cooperation movement

(D) Quit India movement

AA-A2 A ge-ud A il 53 wiiar A4 dy ed ?
(A) ulda 5194 eioL Atiglan

(B) 2ae2ll Aigiant

(C) U8 AIEIAA

(D) [S¢ 5181 Higlant
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88. | Which of the following is the criteria to qualify as biodiversity hotspot ?

(A) Neither the region must contain at least 0.5 % or 1500 species of vascular plants
as endemic nor the region has to have lost at least 70 % of its primary vegetation.

(B) The region must contain at least 0.5 % or 1500 species of vascular plants as
endemic.

(C) The region has to have lost at least 70 % of its primary vegetation.

(D) The region must contain at least 0.5 % or 1500 species of vascular plants as
endemic. and The region has to have lost at least 70 % of its primary vegetation.
both

DA-uie sun cuaisinarildl dizaie’ wdq wirgs (Wiel) 9.
(A) 2 Rzl vl 2 0.5 251 v 1500 -Uasiysd (Arga) atzuld- wonldil 3 |

% 55 i o Al 1A (AA-3FLs) HRAac glar RS, 3 sucu Qi A afis atzuliny |
291 2091 70 251 QURLAL U2 2Ad Sidl ASA luid) 45 uw L. "

(B) ua Rectdl »ieswi »iled) 0.5 251 A8 1500 ARs1gsa (ArgR) anzula-l umlazil 5
% 55 i % Al HA (A[Ls) HALAAL Sl AL ‘
(€) e Rzt Al uafis a-uf viiesul 21t 70 251 Skl -1 234 dlal ASA

(D) il Rzl wiieswi »iied) 0.5 251 vaaL 1500 -Uasiysd (ArgaR) arula-d ualavi 5
B g5l o Adl 1AL (ARRLS) YA Sl AT, x4 2ual [QzaiRixl d-l walRs
qri2alA-AL BUEHE 249 70 251 G 1L 2AA Sldl A bid.

89. | ‘Minamata Convention’ is an international treaty signed in 2013. Which of the following
component it target ?

(A) DDT (B) Ozone (C) Mercury (D) Radiation
ALl s-A-aq’ 21 201340 sal 2uddl videandla AR § — d DAuwidl sun wes
wiaglld sami 2udl © ?

(A) SLALAL (B) i (C) u549 (WRl) (D) [al3a
90. | Whose tomb is at the ‘Sarkhej Roja’ ?
(A) Ishan Pir (B) Shah Aalam
(C) Karim Shekh (D) Shekh Ahamad Khattu Ganj Bax
AW AL Si-l £0u8 2uddl © ?
(A) a2 (B) s AU
(C) 9™ 2w (D) &ut ASHE WE FlutHa
91. | What is the use of heavy water (D20) in the nuclear reactor ?
(A) To stop the nuclear process (B) To reduce the speed of neutron
(C) To increase the speed of neutron (D) To absorb the neutron
A5 el Ruserui auR well (D20) 4 g 51 i 97
(A) WMl [Zan As (B) =y2idl afad 2l s
(C) =y2int-il aldA adral (D) 42iA Ml dat
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92. | United Nations Conference on environment and Development is also known as which
of the following name ? 1
(A) environment Summit (B) World Summit
(C) earth summit (D) Conservation Summit
YeAlS23 A Slrg 2 ARRAAA2 2 Jaquire’ 2 DA-uniell oflon sw -l wa
ey ¢ ?
(A) walar AdHat  (B).[da Anan (C) ydl dHan (D) AR AHAA
93. | World famous “Rani-Ki-Vav” at Patan was built at which rulers time ?
(A) Kumarpal (B) Bhimdev (i)
(C) Bhimdev (ii) (D) Siddhraj Jaysinh
weeml 2udd ulRig wWell-l i’ s s aHuHl siwaHl 2ud) dl ?
(A) FHRUN (B) [dm2a (i)
(€) [Mmea (ii) (D) gy wulas
94. | Main use of Micais in:
(A) gtass and wares Industry (B) Steel Industry
(C) Petroleum refinery (D) Electricity Industry
2§65 (Mica) il yru GUAdL ... Q8.
(A) $1 B QL Gerdmi : (B) Saud Geldaui
(C) vail&un al4ni (D) [Axvll Galowi
95. | With respect to comptroller and Auditor General consider the following statements

(1) CAG audits the accounts of Government owned as well as privately owned
corporation

(2) CAG is appointed by a committee of members headed by Prime Minister.
Which of the above statement is correct ?

(A) Neither 1 or 2 (B) Oniy 1

(C) Only 2 (D) Both 1 and 2

[Ri=ts 244 ugidvi uRas (CAG) - dgeini DA [l dwsil

(1) CAG 51 M&AA e vl QA Rorvi vl 2Bz 53 a3 S,

(2) CAG -l [Augls uat3-N-l 2iaadicsdl ufld g 8.

Gu-umiadl sau (kim0 69 ?

(A) 15 2 1id) vsye R, (B) $50 1

(C) 55d 2 (D) 1 x4 2 A
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96:./ With respectto river Ganga which of the following statement is/are correct ?
(1) Drainage pattern of Ganga is a Dendrite drainage pattern

(2) It is the longest river flowing through India

(A) Neither 1 or 2 (B) only 1

(C) only 2 (D) Both 1 & 2

sjourll i A3 DA-nuisfl sdy/sal [Qaq aea O ?

1) dbour weus udl3u gausR susiR-l 9.

2) a4 cuRduiEdl u adl Al @ioll 42 9.

(A) 1 3 2 il visual dl (B) §5d 1
(C) §5d 2 (D) 1 ¥t 2 6
97. | Which of the following is not an agent of mechanical weathering of rocks :
(A) Frost (B) Temperature (C) Water (D) Organic Acids
DA-unie sia ails fsa/zuae we g 1l ?
(A) dlpal 618 (B) At (C) well (D) s1eilRs 2

98. | With regards to money bills, which of the following statement is correct ? :;

(1) Money bills can be introduced in parliament only after taking prior permission of
the President.

(2) President can’t send money bill for reconsideration to parliathent
(A) Neither 1 or 2 (B) Only 1

(C) Only 2 (D) Both 1 and 2

el Qs Aseinl DA-unidl s QA e d ?

(1) wzularl yd +iagd) dlan wedl o -ueu [A8us iueui 9 53 s ©.

(2) 20zufd -nad [A8usA yrldauren W ud Hlsdl asdl 4l

A [Aseunisl uioy [Aseu uaie 531

(A) 13 2 uidl vlsua (e, (B) $5d.1

(C) $5d 2 (D) 1 21 2 43

99. | When we take the stone to the Moon ?

(A) Its mass and weight does not change
(B) Its mass is changed but weight is same
(C) Its mass and weight are changed

(D) Its mass is same but weight is changed

515 v g u2 a4 gadl...

(A) drj samir S A%+t b ydsid 284,

(B) A, eI 2401 Ugl, Uig A% A ¥ W4,
(C) Ar st 47 ot 6 AL $4l.

(D) A scumuint ¥l o 82, Udg A%t el S,
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100.| Which of the following is the most recent National Waterway of India ?

(A) Brahmani River waterway ' (B) Allahabad-Haldia Waterway
(C) Barak river waterway (D) Sadiya-Dhubri waterway
Aol sul dAF UL 9 N2 YAl AU LY 97
(A) custell i sl (B) PLESI6UE - sedla ynHIdl
(C) t4R1s +LEl gl (D) uflau - gl sl

o o o

|
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